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a = (30-0)/12 = 30/12 = 2.5 m/s^2 

 

a = (Vfinal – Vinitial) /2 = (37 – 22)/2 = 15/2 = 7.5 m/s^2 

 

 

 

 



  

 

 



 

 

 

 



Centre of mass. 

We assume that the mass 

is concentrated at one 

point and that is where we 

place the arrows 



 

 



 

 

 



 

 

The spring changes from a length of 20 cm to 21 cm, hence it stretches by 1 cm or e = 1 cm = 

0.01 m.  

F = k e= 100 N / m × 0.01 m = 1 N 

F = k*e → e = F/e = 5/0.4 = 12.5 m 

F = ke = 10 (30 + 30) = 10 * 60 = 600 N 
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M = F* d = 4 * 0.4 = 1.6Nm 

In order to balance this moment, an equal and opposite moment must be applied in the clockwise direction. 

M =  F* d If F= 8N then d = M/F = 1.6/8 = 0.2 m 
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